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Unit 1 Part 12: Multiple Choice Practice

Directions: Each of the questions or incomplete statements below is followed by four suggested answers or
completions. Select the answer thatis best in each case and then fill in the corresponding circle on the answer

sheet.

Note: For all questions, assume that the temperature is 298K, the pressure is 1.00 atmosphere, and solutions are
aqueous unless otherwise specified.

1. Astudent performs the following tests to determine the identity of a mineral sample from its physical and
chemical properties. NUES dessts 0 ) A
p L Phygiead Pt cal properiies

Test1 | Microscopic examination of the mineral to see the shape of its crystals.

Test 2 Scratch test of the mineral to determine its hardness.

Test3 | Rubbing the mineral on astreak plate to determine the color of its powdered form.

Test4 | Dropping dilute hydroch|oric‘ acid on the mineral to see if bubble&will form.

gl i ‘t*/!')e mineral? 6% W‘N\QZ\'\OV\

Which of the tests would involve a chemical change in

A. Tests2and 4
B. Tests3zand4
C. Tests1,2,and 4

@Test 4 only

2. Achemistry student makes careful observations and measurements of a small sample of matter, and determines
the following:

Appearance silver solid
Mass 1.85 g
Density 5.9 g/cm3
Melting Point 30°C

The student determines that the unknown substance is gallium (Ga). Which of the following is an extensive

roperty of the gallium sample? .
P A'y . ind ’ Aexie/sINe = amout o® subsiavce.
Mass of 11.85 g E_Q_Eé‘ YV\Q_H‘CV

C. Density of 5.9 g/cm?
D. Melting point of 30°C

3. Aliquid has slightly different properties than a solid because jn a solid, the particles -

A. are free to flow past one another. \(quio\ OV\\%
B. areclose together. {iquid & 2a\id

C. get bigger when the temperature increases. Paig iswn ,‘+ A %\V\% ..
vibrate in place. ‘50\\0\ OV\\\S
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4. The following two equations represent changes to water.

M0 H0(5) + energy PNODL CVONOL (w%s\m@

2. H,0 (1) +energy >2H,(g)+0> (®)
A physical change is represented by - /\\D onds velween \)( 0 are broken
A. Both1and2 (C\'\ﬁ\N\\ Cﬂ‘>

B. Neither1nor2
C. 2only

1 only

5. Atransparentliquid has uniform color. Under a microscope, no difference in uniformity is apparent. The liquid
passes unchanged through a filter paper. Based on this information, it may be concluded that the liquid is -

[y w\d :
A. an element. J0O 5?26\‘2’\& (CO oM DO V\d» %_\ﬁ\\% ‘AV\\QDVW\
@either a pure substance or ahomogeneous mixture. sl/

C. either an element or a-heterogeneous-mixture.

D. a-heterogeneousmixture. OANIT— ‘Dt’, V\&W\/\Qu’$

6. Asample of sulfur obtained from the crater of a volcano is carefully measured. Which of the following is an
intensive property of the sample? ; . w b

~ g * inlensive - indepevident

‘ )Density of 2.07 g/cm3 - - G‘Q
\&Joers e oS e amount
B. Massof3.85¢g N

W V(¢

C. Volume of1.86 cm? Z‘ \“\%\/\'\' OKV\SMYS, S \osm €

@ Temperature of 20 °C 009% \,

7. The diagram below shows the arrangement of atoms in liquid mercury. Which of the following properties of
liquid mercury atoms explains why liquid mercury takes the shape of and fills only the bottom of a more
voluminous container, but neither solid nor gaseous mercury does?

Liquid mercury atoms — W \eudr
/

A. are practically incompressible. €= don4 answel
are close together but free to move. .\)\/\f, q\kes‘\"\ﬁ

C. have arandom arrangement. (/

D. slightly increase their average separation when heated.

8. Which of these correctly identifies two processes with the types of changes that occur?

A. Combustion - phxcal change; Boiling - cheb(cal change
Boiling — physical change; Combustion - chemical change

C. Melting - physical change; Sublimation - ch%ical change

D. Sublimation — physical change; Melting - che)écal change
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9. Astudentis asked to identify a substance on the basis of its chemical properties. The table below lists some of
the properties of the element bromine (Br).

&( T state liquid \
N\/\\ C/V\ G % E color reddish-brown‘j
Q m F3 elemental state diatomic
bm\{\/\«\ \/\-6 \6 ﬁ—‘{’ 4. reactivity moderately high
CJ\A€ \C&\ — 5. melting point (°C) -7
QWQQV*\e’% 6. boiling point (°C) 59

A. 1and3only
B. 2and4only
4 only
D. 4,5,and6only

10. During an investigation, a student determines that a copper sample has a density of 8.10 g/mL. What is the
student’s percent error if the accepted density for copperis 8.96 g/mL?

A. 07% qu 8\0

B. 8.6% ’___________,,,——"‘ x \00

@9.6% & A6

D. 11.0%
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